Pre-AP Algebra 2 In 5,%%

Given: h(x)
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\m.-m” Fill in the table:
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X y
-3 0
-1 -3
0 1
1 0
2 1
3 0

Using the above table and graph, complete the following transformations by graphing the
transformed function, filling out the table, giving an explanation of the transformation, and listing
the domain and range. d&

1. g(x) = h(x) + 2
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Graph: g(x) +1 Explanation:
New | Orginal | original | New Write a verbal description of
)<3 % y y the transformation of h(x).
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2. g(x)=h(x)-2 ,....z
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@ g(x) =h(x + 2)

Graph: g(x)

. Write a verbal description of
New | Oi9nal | orgnal | New the transformation of h(x).
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4. g(x) =h(x—2) oo+
Graph: g(x) Table: g(x) Explanation:
Y [ Write a verbal description of
New | Onginal | original | New the transformation of h(x).
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5. g(x)=h(x-1)+3
. " P 3 Write a verbal description of
Graph: Q(X) New Original | Qriginal New P
e i X the transformahon of h(x).
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6. g(x) = l;h(x)
Graph: g(x) C"h
New | Original | original | New Wirite a verbal description of
X X y y the transformation of h(xr).
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Graph: g(x) the transformation of h(x).
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8. g(x) = h(-(x+3))
f% »-| Write a verbal description of
Graph: g(x) New | Original | original [ New the transformation of h(x).
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(X) = 2h(x)
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Wirite a verbal description of

Graph: g(x) New orif(i"a' 0“;‘""’“ New the transformation of h(x).
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10. g(x) = -;—11(.\')
Graph: g(x) n )/Z,
New | Orginal | original | New Write a verbal description of
X X y y the transformation of h(x).
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3| 3 | o & Nova 2o/
=z 4 3 | -3 &oyvv}m&‘/b/)
3 0 1 ]
J ; Vo | 0 0 Domain: 53{2 )3/2,3
- \ 2 1 | R
ange:
321 3 | o | O > § =3 ‘j




e

s

.-



lo/ M%ﬁo&‘« opper i
© a0 =h(5 x)

Graph: g(x) M?
New 0"'?(""3' Original | New
X y y Write a verbal description of
-k -3 0 O the transformation of h(x).
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Verbal Description Word Bank

Vertical shift up
Vertical shift down
Vertical stretch
Vertical compression
Vertical reflection (over x-axis)
Horizontal shift left
Horizontal shift right
Horizontal stretch
Horizontal compression
Horizontal reflection (over y-axis)






Elaborate:
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Given the function f(x) as shown in the graph:
Critical Point:

M k= W k) ==
r T T T T

Describe the transformation from f(x) to g(x) and write the rule for the function g(x) as a
transformation of f(x).
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Trans. (verbal): \eﬁ—‘l- { Trans. (verbal): Doudﬂ T
Trans. (function notation): g(x) = Qbﬁ' D Trans. (function notation): g(x) = p (—Y)’l
Domain: 1?\ Domain: |Z~
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Trans. (verbal): ‘P[‘\? W%Cﬂt\,' U’f ’ Trans. (verbal): IeH ’5/ O'()()UJ‘(l Z’
Trans. (function notation): g(x) = F ()() t ( Trans. (function notation): g(x) = # O‘ -{-%\ =1

Domain: L Domain: m\
Range: ‘ﬁ & \ Range: 5 Z"?-—






